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MATHEMATICS

National 5 – Applications

Unit 3 Test – PRACTICE NAB 2
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Answer these questions
Assessment Standard 1.1   Q1 – Q3
Q1  James wishes to plant some vegetables in  a triangular plot of land as  shown.


Calculate the area of this plot to the nearest square metre.


           (2)
Q2
A plane was travelling from Tidmouth to Wellsworth a distance of 45 miles when strong winds blew it off course by 23 degrees.  A boat spotted the plane 29 miles from Tidmouth at P. 
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What is the shortest distance that the plane still has to travel to get to Wellsworth?













(4)
Assessment Standard 2.1 also 

Q3
Three markers in the Ocean are positioned at Kingdom (K), Western (W) and Pacific (P) as shown in the diagram below.



Kingdom is 210 kilometres from Pacific. Western is 390 kilometres from Pacific.

Pacific is on a bearing of 125° from Kingdom.

Calculate the bearing of Pacific from Western.

Give your answer to the nearest degree.





     ( 2 , 1 )

Assessment Standard 1.2

Q4
The diagrams below show 2 directed line segments u and v.

	
	
	
	
	

	
	
	
	
	

	
	
	u
	
	

	
	
	
	
	

	
	
	
	
	


	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	v
	
	

	
	
	
	
	



Draw the resultant vector of 3u + 4v .   on the grid on the answer paper.                      (3)
Q5
The diagram below shows a square based model of an Egyptian pyramid of height 81 cm. Square OABC has a side length of 144 cm. 


The coordinates of A are (144, 0, 0). C lies on the y-axis.



Write down the coordinates of D.






            (1)
Q6
The forces acting on a body are represented by three vectors j, k and l as given below.



       j = 
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,       k = 
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,      l = 
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Find the resultant force. 








(2)
Assessment Standard 1.3

Q7
Given that vector  
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  and vector 
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,  calculate   
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 leaving your answer in surd form.








(3)
Q8
Chef Rolly bought himself a new car worth £18,600.
Its value depreciated by 11% each year. Find the value of the car after 4 years.














(3)
Q9
Bobby measures the length and breadth of a cupboard as shown in the diagram below. 
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Calculate the exact area of the frame (in m2).




(2)
Assessment Standard 2.1  Q10 only

Assessment Standard 1.4, Q10 – Q12    

Q10
A student bought a t-shirt for £17.60. This included a 20% student discount. 

What was the normal price of the t-shirt?





(1 , 1)
Assessment Standard 2.2 Q11 & Q12
Q11
A rugby team scored the following points in a series of matches
13
7
0
   9
7
8
5

(a) Calculate the mean and the standard deviation for these results











                               (4)

        The following season, the team appoint a new coach.

A similar series of matches produces a mean of 27 and a standard deviation of 3.25.

(b) Make two valid comparisons about the performance of the team under the new coach.



















          

    (1)

Q12
A restaurateur finds that the cost of running his restaurant depends on the number of meals served. This is illustrated in the scatter graph below.









(a)   Determine the gradient and the y-intercept of the line of best fit shown.    














      (3)

(b)   Using these values for the gradient and the y-intercept, write down the equation of the line.


















    
     (1)

(c)  Estimate, using your equation, the cost when 25 meals are served.








                                                          (1)
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